
BKS KLASİK GİYOTİN TEK CAM HESAPLAMA VE ÖRNEK ÇALIŞMASI (EN: 3000 X BOY: 2500)

Cam Yükselik: 2500 - 238 = 2262 / 3 = 754 + 16 = 770 

Cam : 3000 - 114 = 2886 Genişlik

Kenet: 3000 - 154 = 2846

Cam Yükselik: 2500 - 238 = 2262 / 3 = 754 

Cam : 3000 - 114 = 2886 Genişlik

Cam Yükselik: 2500 - 238 = 2262 / 3 = 754 + 4 = 758 

Cam : 3000 - 114 = 2886 Genişlik

Kenet: 3000 - 154 = 2846

Tambur: 3000 - 55 = 2945

Ana Prol ve Kapağı: 3000 - 6 = 2994

Küpeşte: 3000 - 114 = 2886
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Kenet: 3000 - 154 = 2846

Kenet: 3000 -154 = 2846

Kenet: 3000 - 154 = 2846

Alt Kasa: 3000 - 46 = 2954
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